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(Set) &+
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Ry e S e b a L LIl Lr
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Lyt e sl b

-< (Set of Natural Numbers) QVK)L@U?L; N=1{1,2,3,..}

- (Set of Whole Numbers) .:;Kwug W=1{0,1,2,3,...}

-< (Set of Integers) qéwé; d=1{., -3, -2, -1,0,1,2,...}

-< (Set of Rational Numbers) 2§l P bl «Q

-< (Set of Real Numbers) &,{“K)W’&i R

I LAy

g L2
: (Listing method or roster method) < £
Y2810 ,fuwiu(;!ﬁ;éié.&wﬁ‘/ufﬁﬂwz“uﬁdi@ﬁ/u(n&iquﬁ%}m
_‘Lmd»/t&w/u@nrﬁgg A e S S Ut
i L oL fie s AG e Fend 10 = 1: J&

A=13,57,9} L A=1{7,3,5,9)
L Trmlic L7 e am o JEBY remember Ulg - 2 (e, m, by Er€ 37Ut remember
L it S
: (Rule method or set builder form) 53 # (LUt d_ Sl emr®
SETE Aot ISt L NE e B SIAL bt p St f SIS
L1041 2x JeUAU x S A AN A= (x|xeN, 1 <x< 10} J& _ 32l e §5

_4".;ﬁu’~bgbuy‘/)

2]

)
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B erd UL und e sl 10 & 1 JiUT B = {x | ~csrfulend 10 11 1 4 o) 2 JEo

L 2 =3 p G
-ZU:.”{}WLJ}LQ)&/VL’)M)‘“?‘LL‘L&{%LW’JLL::, Q
Q={Z|pgela=o}

e swlpi S g el p S e g Loty
_‘me“cu:‘?/’ui»&muﬁuﬁ'@ndﬁé : uﬁjt%i/“

.’é{/d;lfﬂb%yj D AGH
A= {x| -‘a_}](ﬁ] DIVISION . «x} A={D,LV,S,0,N}
B=y| =9 Jeswlitly o) B={-3,3)

C={z| -‘gmd?’e}{é 30 L 5 o ez} C= {5, 10, 15, 20, 25}

-éd“@wéf/ifufdléafdwtﬂs Je

3G B A
A={2,4,6,8, 10,12, 14} A= {x|-+;xdfb¢&e,@’¢ 15 o «x}

........................................................................ B={x|-culrJlund 20 = 1 4 )

........................................................................ D={y| -« bsL6LAT % o)
........................................................................ P={x| —3<x<3 fc)m%wé; o}
M={1,8,27,64 1250 | e
11 e d”
ey fGiendins ()
bl Peend 50 1 (i) bl e ()
kU L E (i) LB ER (i)
-éutywrfgtgana,:uﬁu?wdsw )
(i) % €Q (i) —2¢ N (i) P={p| - wJbtly p)
S B PRl (Lni S WL P B G S )
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L phendies @)
e LS A ()
6370 53 ‘COMPLEMENT (i)
—er AP B YUl (i)
Bl Mlend 20 = 1 (iv)
_er KPPl ()
L Sl veantintins ()
() A={1,4,9,16,25,36,49,64,81,100}
(i) B={6,12,18,24,30,36,42, 48} , (i) C={S,M, L L, E}

(V) D= (£ o2 el wr S p ¥} () X = (a6t}

SAET

d

Types of sets rL»’“’d/&g*

Je- -/ ey
A=1{2} et oS it e e
_4‘"_:,«5{;!,@')/5”:452, A -uj‘é"’f ii{dg.{’ Joreli | (Singleton Set)
B={x |~Lamdfbugw£ 342 o x} u‘{..ggwﬁéﬂd;utqu’ &{fdl}
CB={} L ¢ bl o) (Null Set)
(Z6) ¢y { ) feruiogr | (Empty Sety
N, 20 SISO
C=1{p]| _‘L}ﬁ{%’ﬁ:ﬂ;’— 4 nl22 51 L) | S L e twerdbirs STy
C=1{4,8,12, 16,20} Kl e Queomi st § Ul (Finite Set}
g emmsford i pES
N={1,2,3,.} Goe it sl § b U x> il
Jorell {LF 'S Q/U:‘il?uﬁu’g:. (Infinite Set)
s )

B



-édla&L?.uﬁ&r»ﬁﬂ;ﬂ&:»ﬁ&df/mﬁcZi_)&/f&{(j“;'@» X JC’”
i A= {x|-‘Lu&Jlb:/xu’xeN} (i) B={x|3x—1=0 » xeN}
(iii) C = {x\_‘a)ﬁ(,},ﬁ.ﬁc, 72xsxeN} (ivy D={(a,b) | a, be W,a+b=9}

(v) E = {x|xel, x¥*=100} i) F={(a,b)|a, beQ,a+b=11}

A:{x|-‘LJMJUv:/ #lxeN} (i) - f
A=(1,3,5,7,..0 o (cezrndifl)
B={x|3x—1=0. xeN} (i

3x—1=0,.'. Ix=1 xX==

el Bt B= ), %e N &
C= (x| —criphie T x sl xeN} (i)
LC=1{7,14,21, ) (el
D={(a,b)| abe W,a+b=9} (iv)
e atb=9 sumed® bt a SLANGES DS bt a f
LML e 35 er D L Fel i S b o a &
D ={(0, 9), (1, 8), (2, 7), (3, 6), (4, 5), (5, 4), (6, 3), (7, 2), (8, 1),(9, 0)}
g Fe SRR Sl G L
el i Do
E={x|xe Lx*=100} ¥
E={—10,10} .. -cismszE .
F={(a,b)|a,be Q, a+hb=11} (i)
F={(6,5),(3.8),(3.5,7.5), (—15,26), ...}
_uGn Uiz LA

-l oF

u*’)/uﬁ U
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(Equal Sets) Lx(Ssl+

G S e U Bt e A Lr 6 B L s B L A
e A=B ertbe | Jrisile B sl A
A={x|-c 8 listen z cx} , . A={li,s,ten} :@)J&
B={y|-cJ76silent y <y} , .. B={s,1,1,e,n,t}
e A=B L Ulrirfilon Bl A LUt e IS B sl A
A={x|x=2n,neN,0<x<10}, .. A={2,4,6,8,10} :@)J&
B={y|1 < y<10 slesw=y} , . B=1{2,4,6,8, 10}
_terile Bl A Ly
LS N S stn
C={1,3,5,7} : D={2,3,5,7)
VB sz lrl DY
2¢C 2eD 1¢DdeC S
C # D LUlypfesls D sl C Ly
SEISSNA£B 2 B={1,2,3,4) s A={1,2,3} J: 3) J&
B={11,13,17, 19} s A={x|10<x<20 slcsis#y ex} : (4) J&
AU A=B Uk

12 o

AL e g St e s (1)
A={x|3x—1=2}
B= x| - S le S x B < x)
C={x|xeN,x<2)
_ﬁngLg fterGls Bl AY ()
A= P} ., B={x|7x-1=13}
_ggjv{i.?, frdbere wie fSits  (3)

1) A={a| -Lajﬂdfbe’}‘fa.}’d cajl
(i) B={x|x*=0}
(i) C={x|5x—=2=0, xe N}

(3




- 4@%&.?, ?:}fﬂc,u;gﬂq?u#&rcu}/a, ui'J"}Zw) 4)

1) A={x|x<10 2l ‘Lu&u’fi , X} (v) &{K@UTéoéf:.
(i) B={y|y<—1u ‘L)ﬂé; <y} (vi) .a;%wu}‘(

(i) C=rblplil eslag JSUFIST (vii) 2rElel P

~

(iv)  2rbUsePl L UsBL T

SAe T

*

(Venn Diagrams) /| befs

Cordd¥ g2l Soory JUBISIL SV oo 6 o i P Llen
LA e 5L Ut JE1 s Ku/l;u@LLL/J’u’ff»&/r.:gmg.iévﬁuyﬂ
-ZMLJAJU}J@‘J}@/}L’ chLbLLAj

fg)wf&yp/u:wuumn&b" A A=1{1,2,3,4,5 :J&
& -y/%c,../d_ Lol k¥ -‘a‘./“u;?i” A d’.{cug{fl}ujj;
_‘L?«C@rﬁ’({u‘ ‘U'J,lgdf
9 1834-1923 )
0o -1 -2 -3 B
-4 -5 -6 -7 B={x|—10 <x <0 x»lcssCy x}
-8 -9 -10 —e b bder B Shepsinlatl

(Subset) uwf

B oA sperd¥ Acrd Blroe 6T Acr Jrk B lrsiters B sl A
2y e G A LB A Ll B UL e etk

A=11,2,34,56,78} : (1) J&

B=12,4,6,8
_‘Ldﬂu‘-’g A erfib B UL
.~ B A

_‘gn/glegz//l’gfcfl}q:»(@t}”‘u’!



e Uhe Sbuerbusdifl eslag i usl ooz (KUV
_EN L Larditat b
LrfUflesla () (1)

L busd bl g L esz (i)

e e LKA S ()
05 L S b g ‘Jﬁ 7 )
LB i) SLBEL () 1,%&;9"35@;

'Z'Q/;’?{ﬁ.’."‘f?:ﬁ:/w’
I= brb/m'f; «N= @rb/)wdfb 2) J&
-Q‘?Lﬁf:}lﬂléjﬂﬁlu’.{f%r}’fu:f"fu[% Ncl J~

S=1{y|yel, =5 <y <5} 4 P={x| -kt 25 2 x} 3) J&

P={-5.5) Loerp a8 S50
S={-5,-4,-3,-2,-1,0,1,2,3, 4,5} Lo er s e 3 A5

e S s S P U

u*{ufuvm'

AcAF -+tn¢gf Lhterr (D)
b A e trerFResendt (i)

BcAsAcBYA=BJ (i)

SN

A=BYBcA s ACB (iv)

Ll A= 13,4078y e
S=1{1,4,7,8} <V={1,4,8) T={4,78} P={1,3} [>

B égu’{é/autui’_ugaét?auqfﬁg LA




et 9 LA UL ke Ky 6
L gl Lk hr nel o GGG L AP £ 9 = 1 gt
_au/u’wu/(wLbu& 91Ul

DOODE
AN NA A BEA

-u*ajz_;du;)wic;u/u/u'"u)lafd/u/i»’dy e x? :L“lf‘f&C
..quc;zi_)d/VL’)MW&{/;;)AJJL{:(QL’Q;Lujc;..jﬁwl/@fgd_ug/z

-ugLﬂé.;&fm{ufJ} JB
={ ., -4,-2,0,2,4,6,..}) B={1,2,3,....}
{.,-12,-6,0,6,12,18.....} D=4{...,-8,-4,0,4,8,...}
={..,-3,-2,-1,0,1,2,3,4, ...}
Eei e Boude e alU
-%qu’b{qrwugw&, B (ii) _4..:5&‘2 Kerllr D C B oA (i)

SAeT

L ad

(Universal Set) & (367

UL AL SIe b b o 367 ot L d SIS e Beles cpdnd Ly er
-Lat‘n.’;{uf Kay@uf.zg/;/,@)_“g/u:@fﬂ

Ll estays 9 L LUa L840 2 S NE G f i estays 9 SUFILVZES 1y Jé
B GOT cer b UL S e K e UL sz S b D
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G e 7 U gt 86T
-w&&wcﬁzﬁgfbi/bgéwwébqﬁ

(Complement Of a Set) &,{“Jﬁc

H o Mg B Lpdepl Yihargher BT US2UE B ord BeU e er 367U U

Gl b BOU B lr K B ls

¢
e

LB ={x|xeU, x¢gB) g ES IS B LA

U= {1,2,3,4,5,6,7,809,100 :(1) J&
A=1{2,4,6,8,10}
AN ={1,3,57,9)

19

1 3 5 A’ |U
2 A/
4 6 8
10 9
Bf
1 18

Uu={1,3,9,11,13,18,19} ‘étf/ (2) Je
B=1{(3,9,11, 13}
. B'={1, 18, 19}

S barisl g (BY) o

e L KU U Ut B Ly (BY
S o (B)=B

X AR SRS 2T,

- m.:;mp&’i:{% K&{:‘.VC

uﬁ’fuﬁuwcl

eSS S U A A ()
AcU s AcU (i

U= o ce b dbesr Lo 36T (i)
¢ = U -‘gm.b{@ﬂ&{”k‘cl{&rdG (iv)




13 erd”

St D =Ada, ey C={b, dy B={c¢c de }.A={a b c d e Ji
- e bl uie
()CcB iWAcCcD (im)DcB (ivyDC A (v) BC A (vi)CC A
S e SO ser Y sl 2 X /L/?Mz:.zgéu”/q&wdié 20 =1
@) X={x|]xe N, 7<x <15}
(i) Y={lyeN, cu upnl 20 1,y
U={1,23,728,09, 10, 11, 12)
P = {1, 3, 7, 10}
_EIBS (P = P i) -z b2 sl S P sl P UG) Y
I FFEE A i A= 1327
e e Fhere b it perl S ()

-‘a.b,g(u,ﬁgzidﬂ;{,:u, M _‘a."/{l{u;ﬁigé:;a’:{ P
_‘aq(uwﬁ@éo/léd B —%&r{u}/&ﬁgélﬁl% I

-‘a&,f:’(u’)éﬁgé/‘ébwd H
Wbl o ST Lrr il 0l (i)

(1)

)

€)

(4)
©)

W2 oY bl e BHTL L e Uin Ldh L IS et (6)*

B=crbiulle syl 7 A= Bl A5 ()
C = erblul il 12
T = lrbleladpl? (P=crBlelta®l 4 (i)
ISP A Sl L i S oo 1 50% e i-em i B6Telr (M UL mrla gE P
AN

LA T

*

W

(Intersection of two Sets) { L/6Er)
g Sy B sl A Sl IS B sl A LUt B sl A S5 PP

gy BUWI A ezl AnB o
ANB={x|xe A »x e B}

)



B .
A—r b B=1{2,3,6,8 « A={1,3,57} :(1) J&
[ ! | _.
= L e
-\l .
%zlﬁi -§.JfJ;?,3u:¢:ui;;u¢B sl A
L ANB={3)
A .
B=1{1,9, 11}, A={1,3,9,11,13} : (2) J&
3 ,ugu&r_f;ﬂ; 11¢9¢1 B Ernl Acx
3 B={1,9,11} ¢ - ANB={1,9,11}
S AMB=B
-“é;utulxmcl_q_:,{fKA ~ B Ul
BCA 3 BNA=BJL S ANB=B yBC A Jilui
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